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Exam Shift: | 1
Langauge: |Gujarati
Topic: Mathematics-Section A
Item No: 1
Question
D- 100101
Question
Type: MCQ
Question: | RS fi R = R 2L 29 dad (484 © & @il £ Gx)—f (x)=x. ot f (8)=7 €14, tl f (14) =
A: 4
B: 10
C: 11
D: 16
Topic: Mathematics-Section A
Item No: 2
Question
D- 100102
Question
Type: MCQ
Quest 4Rl 5 O 2 Goruletg © 2 A 2 (645 2, =1+ 2i . ol B 2L 244 [45 z,, Re(z,) < 0 €11 5 v¥ll OAB

ueston: b i 4" Ny ™ b i - -

2L OB $81 €t el unlgoutsy slzsiol [Fsiel ¢, dl Al Usl s 2z <8l 7

A: arg z,=m—tan" 13
B: ") 1 4

- arg (z4 —2z,)= —tan 3

g (21— 22) 3

D:

|221 - 22| =5

Topic:

Mathematics-Section A




Item No: 3
Question
D: 100103
Question
Type: MCQ

ol Yt WlseL el

8x+y+dz=-2
. x+y+z=0
Question:
Ax—3y=p

~ . U G RS 1 H * S

A (v Gl ¢, dl (G [J\, W, _EJ o UUAd Sx+y+4z+2=0 ¥l 2R 9.
A: 3\/5
B: 4
C: %

9
D: E
3
Topic: Mathematics-Section A
Item No: 4
Question
D: 100104
Question
Type: MCQ
Question: | A s Aol 2x2 AlBls O F syl det (A)= —1 - det (A+1) (Adj (A)+1)) =4 2. dl A Ul
| [Bselly aesiAl arawl €8 23,

A -1
B: 2
C: 1
D: _\[5
Topic: Mathematics-Section A
Item No: 5
Question 100105

ID:




Question

Type: MCQ
=1, y=3,x=0,x= Rl s o @ Acll e WS Feil =

Question: | Y=L y=3,x=0, x =1 g3 29 d Ue HASN 3 S Al 2P ULSlAS ULla=

9.
A: 3
B: 5
C: 7
D: g
Topic: Mathematics-Section A
Item No: 6
Question
D- 100106
Question
Type: MCQ

sH 60 2l n gl A AWLeLdR Asll2Al 2, 22, 23, | A 4,42, 43, | ©. el dWH 60 +n
Question: e 22 2008

ELHL A8l W5 (2) 8 M, dl ) k(n—k) =

k=1

A: 560
B: 1540
C: 1330
D: 2600
Topic: Mathematics-Section A
Item No: 7
Question
D- 100107
Question
Type: MCQ

ad [48

log. (1 — x+x2)+loge(1+x+x2) [—'rr T (0}
i ;s X T T

Question: f(x) = SeCY — COSY s F 5 2 By =0 L0 Ucld

k " x=0




A: 1
B: -1
C: e
D: ()
Topic: Mathematics-Section A
Item No: 8
Question
D 100108
Question
Type: MCQ

3 F0) {x+a y =0 x+1 , x<0 . .

x —_— —

Question; | k-4 , x>0 &) (x-42+b , x=0 IS e B,

o) @Q+(pg) (-2 = .
A: - 10
B: 10
C: &
D: -8
Topic: Mathematics-Section A
Iltem No: 9
Question ID: | 100109
Question
Type: MCQ

3 2
‘ x—x+10x—-7, =x=<1
gLy f(x) = ) 23
Question: —-2x + 10g2 (b —4), x>1
flx) AL =1 2010 Y™ Buct €1 adl b L duin Budidl 2w 9.

A (-6, —2)
B: 2, 6)
C: =6 =2} (2,6]




D: [—JE; —2) U (2; \/E}
Topic: Mathematics-Section A

Item No: 10

Question ID: 100110

Question Type: | MCQ

. ~ = 2n o [1— cosx c o
Question: s a= lim ——— Y f(x) = —, xe(0, 1), ¢, cl
n—oo kg‘_[nz + k2 J@) 1+ cosx S it
- -0
f 2 f 2
a a
B: pH N = .\/E
r(3) 13
- )
f 2 f 2
a a
- /-
r(3) -3
Topic: Mathematics-Section A
Item No: 11
Question 100111
ID:
Questi
T;pees: ion MCQ
L - di ) = 'lT ha R
Question: | o af + 2y tanx = sinx, 0 <x < % i} y[gj =0 @&, dl y(x) dl Hee Bud
A: l
8
B: E
4
C: l
4




D: E
8
Topic: Mathematics-Section A
Item No: 12
Question
D: 100112
Question
Type: MCQ
s [04g P 2l <l wA © 5 ool (g1 (1, 2) 24 (=2, 1) Al detl 2idRinAL 94olAL U0 14 &,
Question: | HIRLS £ (x, y) =0 2A P il [GAgua O, o/ x-2181 [ig2ll A 24 B Uil y-2184 (52l C 24 D i
98 9. dl ASIeL ACBD - &350 .
A: 2
2
B: 317
2
c. 3J17
4
D: g
Topic: Mathematics-Section A
Item No: 13
Question
D: 100113
Question
Type: MCQ
HIRL S WG y2=24x A [0 (o, B) 220N ERA 2uels, UL 20+ 2y =5 - do 9. dl Guaax
Question: 2 yz ] " : - .
Z =1 l (a+4, B+4) [Cig 201041 2A[BcdA [Ciguisl ik udl A9l
o
A: (25, 10)
B: (2[], 12)
C: (30, 8)




D: (15, 13)
Topic: Mathematics-Section A
Item No: 14
Question
D- 100114
Question
Type: MCQ
Quest (G5 (1, 2, 4) wiel waz adl 24 I x+y—2z=0=x-2y+32—5 -« AUHIdR 3wl U3, (G5
uestion: Sam . . %
(1, —2, 5) 4l glx ol doud 9.
A: 2
2
B: 2
2
C: E
2
D: 1
Topic: Mathematics-Section A
Item No: 15
Question
D- 100115
Question
Type: MCQ
- - A A A -~ = A A A - -~ = - -
Rl 5 a=cai+j—k Ml p=2i+j—ak @«>08. s axp -l ulku
Question:
M A A . ~ " o
—i +2j — 2k WRAUNHUI0 ¢, Al =
A: E
2
B: &
C: E




D: 7
Topic: Mathematics-Section A
Item No: 16
Question
D 100116
Question
Type: MCQ
s [guel [Gazedi weus 2 (G0 245U o 24 2 8. a P(X=1)= 2, €, di
Question: 3 " 243 %
P(X= 4 ¥4l 5) =
A: E
9
B: 6_4_
81
C: E
27
D: 145
243
Topic: Mathematics-Section A
Item No: 17
Question
D- 100117
Question
Type: MCQ
~ Woa i a g 3 3]3 o P =
4Rl S By, By, By 2 A8 2ol W [Aazs a2l © § o4l P(Ey) = , P(E,) = —
Question: 1— - . " : . . N
P(E;) = Tp Y. ol p el UM 2 YAdU Budl 2458 py 24 p, €3, dl (py +p,) =
A:




B: E
3
C: E
4
D: 1
Topic: Mathematics-Section A
Item No: 18
Question ID: 100118
Question Type: | MCQ

2L ¥ S={0e [0, 2] : 825in%0 4 g2c0s% = 16} B

Question: - .

-

dl n(S) + Z sec [— i 29) cosec [— + ZBJ =

4 4
BeS
A 0
B: -2
C: —4
D: 12
Topic: Mathematics-Section A
Item No: 19
Question ID: 100119
Question Type: | MCQ
o -1 1

Question: tan (21:&11 o fsec X2 4 2tan”! —} =
A:
B: 3
C: 1

4
D: E

4




Topic:

Mathematics-Section A

Item No: 20
Question ID: 100120
Question Type: | MCQ
Question: [Seu (~(p < ~q)) A q 8.
A: (et Uy
B: [Fe (ea
=
C: (Pp=q Aq LHUSH
™

D: (P = q A p LHUSH
Topic: Mathematics-Section B
Iltem No: 21
Question
D- 100121
_I(?;pees:tion Numeric Answer

AL (P8 U A €14 AYLSLES p, q, 1 e R L2, ol UHlS0L (p2+ )2 —2q(p + 1)y + @2 +12=0
Question: 2 G 1,2

Al ofledui 25 2 g0 22+ 20 —8=0 «f WL s “lley €y, dl o
Topic: Mathematics-Section B
Item No: 22
Question ID: (100122
Question .
Type: Numeric Answer
Question: | sy Hell {51l 2JRUs1% 36 ¢l defl 5-2islelutl uglds vl @va 9.
Topic: Mathematics-Section B
Item No: 23
Question
D- 100123
Question

Type:

Numeric Answer




ol 3 wlL 8t 9|[SIctlA 2181 (3}, {6, 9, 12}, {15, 18, 21, 24, 27},. . . Ul [Aeumd sl 209 ©. ol 11 W

Question: .
QAL UCHLAL UYL 2}
Topic: Mathematics-Section B
Item No: 24
Question | 400124
Question .
Type: Numeric Answer
alszel
Question: | x5(x3 —x2—x +1) +x (323 —4x2—2x+4) —1=0 =i [t el(Ad oflsd-l 2qvul
3.
Topic: Mathematics-Section B
Iltem No: 25
Qlfestion 100125
ID:
_Crlue§tion Numeric Answer
ype:
Quest ol (1+x)P (1—x)4, p, q < 15 Al [BRcAR00L x 24 x2 Al UERSL 2UegsH —3 A —5 €14, dl 23 Al
uestion:
USRS 9.
Topic: Mathematics-Section B
Iltem No: 26
QL.Jestion 100126
ID:
Question .
Type: Numeric Answer
. 1 1
Question: | st n(2n+1) [ (1 - 2 dxe =1177 [ (1 - 2" dx @, dlneN erier
Topic: Mathematics-Section B
Iltem No: 27
Question
D- 100127
Question

Type:

Numeric Answer




HIRL S 25 A5 y=y(x) 2 [44g (3, 3) Wiall WUR UM © dal 21l el Al

3
Question: | x-2iatel GUz-AL AL x-41ML 3 il x(>3) 422AeAL UE2U, GAS0 (EJ 9. ol VAL A, UAH AL Uil
X
(G5 (o, 6/10) Higl vSL YUR Ul €M, dl o =
Topic: Mathematics-Section B
Item No: 28
Question
D: 100128
Question .
Type: Numeric Answer
2s [A5101 ABC -l “lisg®il AB, BC sl CA Al u3{l$200 24sW 2v+y=0, x + py=15a il
Question: sn 1 . .
x—y=3 O. al d dotdeg (2, a), —5<a<2 du,dlp=
Topic: Mathematics-Section B
Item No: 29
Question
D: 100129
?ues.tion Numeric Answer
ype:
4L S5 (94 flx) =222 —log,x, x > 0 2 (0, a) Ui teq, i (a, 4) Ui 98 ©. WRA9d y2=4ax
Y o r x . S 1 . =~
Question: | it (45 P 21l 24s 2uRls, (g (8a, 8a—1) widll wuR U4 © uig, [— ~ 0] Hi2dl yiR Yl
uestion: 5
B & & g X y ol =
Al ot P21 2ltider wiflsrais — + B L ¢, dlat+p =
Topic: Mathematics-Section B
Item No: 30
Question
D: 100130
Que§ti0n Numeric Answer
Type:
" ¥+l y+2 z=1 N - o e . -
Question: | ARLE el s = g =g Wl el QRS (¢g P4, 2, 7) 4l \J26 iR
94 9. ol Aslel POR L &lsism -l et 23
Topic: Physics-Section A




Item No: 31
Question
D: 100131
Question
Type: MCQ
25 (AUl glel 2R AR £ M =100 kg, m; =10 kg 2+ m, =20 kg i 2l 20l O,
cAelley AUl alR(@c 2 EllAL vl soiad] el 2id ¢asl . ydl wel ¢asl 2 anlerld 9.
dat ¥z o0 F 24 dd @ouseiii 209 © § 24l 0 m, 2 ms~2 Al uaoel Guzl azg ald 53 6.« F
4 e %3l
Question: | (g=10 ms~2 dl.)
F
—> M=100kg m, =20 kg
A: 3360 N
B: 3380 N
C: 3120 N
D: 3240 N
Topic: Physics-Section A
Item No: 32
Question
D: 100132
Question
Type: MCQ
25 28141 6 MHz 4l 10 MHz “Amseil szl 15481 (RE4L) 222t eyt 531 215 8. 241411 adoidend -l
Question: . N
ogellel o yey %3l
A: 4 m
B: 20 m
C: 30 m
D: 50 m

Topic:

Physics-Section A




Iltem No: 33
Question
D 100133
Question
Type: MCQ

519 21y WAl AL 515 &8l [Qeisy g2 4250 [Sviset ld lle . 10 3l-le eug, €2 2250
Question: | [Evise sl Hlle 2 ©. &y [Fudis Y3l

(log,,1.88=0.274 dl.)

A 0.02 min !
B: 2.7 min~!
C: 0.063 min —1
D: 6.3 min 1
Topic: Physics-Section A
Iltem No: 34
Question
ID: 100134
Question
Type: MCQ

900 nm dLEAS 244 100 Wm 2 dldell 431dd 25 Auidr us12 Brendsy, dozd uudl G 2uuid
Question: .o ~ . - - " o e

A4 O, Brordsret dot T em? AL 20888 43U UAUIL Udl Sl 21 As=sul Hvul 2L,
A 3x 1016
B: 4.5x% 1016
C: 4.5x 1017
D: 4.5x%10%0
Topic: Physics-Section A
Iltem No: 35
Question
D 100135
Question MCQ

Type:




. H = H o ~ i 4 s .
4ol $eAd (el MM, Uil YElous 12 mm ©. el 20004 AL = syedl dsleis Y1l
Question: 3
el gousani 20d di udisi-l uéloud (mm i) %4l
A: 16
B: 0
C: 48
D: 12
Topic: Physics-Section A
Item No: 36
Question ID: 100136

Question Type: | MCQ

UHAd (G aziorsly adomil ol g

ion: = -8 3 o
Question: B=2x10" °sin(05% 10°x +15x 10 't) j T
A AL 209 89, [Agagia-l suldar 231,

A -804l (Bl 6 Vm—1
B: z-28l (B2l 3 Vm —1
c: z-28iA B2l 6 Vm—!
D: z-248L (B2l 2x10-8 Vm—1
Topic: Physics-Section A
Item No: 37
Question
D: 100137
Question
Type: MCQ

LR #Aell wRuuui X, =R 2t il wez $5¢2 P 8. sk C svedl dsiRsdl 2 X =X U del
Question: P,

Heurs A0ll Hsaml 29 © cUR, AR 553 P, Ul 9. B, JIENAEY Yal.




A: l
2
1
B: —_
J2
C: \/g
J2
D: 291
Topic: Physics-Section A
Item No: 38
Qlfestion 100138
ID:
Question
Type: MCQ
.«*.“*’r). x o w8 A.) R
Quest [y deulRda soi (R fia 2eislu g (2: +37) T Hiold 39 ol dnt (m — 4j) ms—2 syedl HeloL €14,
uestion:
dl a o Y .
A: 3
B: 6
C: 1.2
D: 2
Topic: Physics-Section A
Item No: 39
Qlfestion 100139
ID:
Question
Type: MCQ
ofr 2l AU MALS AR Ucll €l el oL 2R X 2L Y AL Seg 2URLN 25 2ot$14 44 By 24 By,
Question: | ©. sl X 3A0UAL Al Avdl 200 2 Bsedl 20 cm 2l Y AL el vl 400 2 Bsedl
20 cm 9, dl By 24t By il 24@llxiz 8l
A: 1 31
B: 1 82




D:

Topic: Physics-Section A
Iltem No: 40

Question ID: 100140

Question Type: | MCQ

A WRYUML Ml T €2l
4 ()
VWV
211 4 )
Question: \/VV\I \/\N\f MA/
4 ) 4 ()
I M VNN
()
\_40V
A: 10 A
B: 20 A
C: 4 A
D: 40 A
Topic: Physics-Section A
Item No: 41
Question
ID: 100141
Question
Type: MCQ
UL UL sl AeRSL C =1 pF, C,=2 pF, Cy=4 pF 2 C,;=3 pF Al daul 54 [Agaeuz
Question: 2L,
(AL Hdlorei=t 20 V oAl 042l sd3d © L Rl
A: 200 p.c
B: 200 C




C: 10 |LC

D: TH.C

Topic: Physics-Section A

Iltem No: 42

Question ID: | 100142

Question

Type: McQ

Question: SR 501 U 2L 53 ol AILAL RULALAAL (A8 azl$l 2uam 3l

A AdnIsIR

B: CIEENT]

C: sedledel(

D: Al 3u

Topic: Physics-Section A

Iltem No: 43

Question

D: 100143

Question

Type: McQ
s AU A5 URHEAA 7 WA UEA Ay, AN OBl 40K AL dEIRL 2i4Md 8. ol GURsd

Question: | MEUL UL i [zl 2iqed dl sl 2udRs Gledui Sedl aaizl 2217
(R=8.3 JK~! mol~! 2ud 8.)

A 5810 J

B: 3486 ]

C: 11620 ]

D: 6972 ]

Topic: Physics-Section A

Iltem No: 44

Question

D: 100144




Question

Type: MCQ
P EALGL 24 V 5% 3¢A 215 AsURULEHL, iy 2AALAS o A5 A0 D DA dlef 58 sl Yo 58 sl
Question: i - - g -
25U SoL 4D ol B, AN gl 2 A gALeL Seg €2 )
A: P
B: 8P
C: 32P
D: 64P
Topic: Physics-Section A
Item No: 45
Question
D: 100145
Question
Type: MCQ
1 em sl eR19g el oig At 729 il ofgiil gél st ©. sl WSl Yssdiel 75 dyne/cm ¢l ol
Question: | MY gLl Rig Yell yuGladul adl qtuzl 23,
(r=3.14 244 9.)
A; 85x1074]
B: 82x1074]
C: 7B 104 ]
D: 5IX104]
Topic: Physics-Section A
Item No: 46
Question
D: 100146
Question
Type: MCQ
sedlR ber yeell-l uuclell 32 km GlRUGL A srel i 248 & eI drl Aoyl Mldeid seisl
Question: | %2l

(wedlll Biodt=6400 km)




A: 1%
B: 3%
C: 4 %
D: 0.5%
Topic: Physics-Section A
Item No: 47
Qlfestion 100147
ID:
Question
Type: MCQ
2N 25 2412, 250 g AL A AAAIA 2 Nm— 1 3001 2ais gziadl (01 418 stsaml »0d4 9,
Quest ol olrinl (368 (E2Unl 0 oredl AL A4l 2419 ol R3PMHE WU (Aol s/eq UL,
uestion:
250 g 080060 — 250 g

A: ¢

242
B: E

2
C: E

4

o

D: et

J2
Topic: Physics-Section A
Item No: 48
auestion 1 100148
Question
Type: MCQ

50 kg Al Aigzl, 350 N« dguet (T) AU 530 25 dal elesl Guz e ©. uddid 4 ms—2 AL uaoL l glst

Question: | U2 {12 BdR © 2 Ul 5 ms™2 AL UG €161 uR Guz A O, 1L [Asey yriE 3

(g=10 ms 2 dl)




} =
A Gux Yedl 94vd T=700 N
) 4 Y
B: A2 Gzl awd T=350 N
i A L
c: Gur Uedl auid izg dél eval.
) g T )
D: Al Getrdll avid g1zg dél svl.
Topic: Physics-Section A
Item No: 49
Question
D: 100149
Question
Type: MCQ
of M8 wg1ld U (B [Asyad A1EL 30° 2 45° AL 101 S5l 24U © Al Al AU LA AL U™ Gl
Question: . < - < -
U 52 9. cetl WS QLALLM Sedl ¢l 7
A 1:42
B: 241
C: J2:1
D: 1 2
Topic: Physics-Section A
Item No: 50
Question
D: 100150
Question
Type: MCQ
0.5 mm |2 8314l 215 2dlor-tl GUHLoL 6.8 cm detld Husdl (R il i el M s
29 O, YU A U 2AAls 1.5 mm 2 4Ol 3BE U Adlsd 7 WA D, iz s il
Question: S 5 R & o B 25
QLG EASN UM WS sl i 3l
[22lsvd drll AdoUs IR 356 Gu 50 s1uL 9]
A 6.8 cm?
B 3.4 cm?
C: 3.9 cm?




D: 2.4 cm?
Topic: Physics-Section B
Item No: 51
Question
D- 100151
Que§tion Numeric Answer
Type:
i H . . ~ 2 ~ . o3
ol Mgt o[l @iy (Brumi (Gl col 21 sy ulza 7, 2 ollquad ualsely=5x(1-x) 8.
Question: R I 3
]l Rl Aol y-ues j el
(=10 ms~2 dl.)
Topic: Physics-Section B
Item No: 52
Question
D: 100152
Que§tion Numeric Answer
Type:
1 kg €0 24 R (sl aR1edl dlsel dl Seguigll wr Al 24 del Adddn det dofl aulEildsy i
sl WReHEL 529l Y O, dlsd ered g arladl drgel dlsadl Al Gua-l 991 eI st
. . . X :
Question: | 19 8, ¢o VAL Ao SLSAML A O, sdR A 2l 2L 98 209 O R s18llH 29y 4, Jﬁ rad s 1
UL Y. ¥ YA 23,
(g=10 ms~?)
Topic: Physics-Section B
Item No: 53
Question
D 100153
Question

Type:

Numeric Answer




G243 T m Aol clldl 4oL WLSUAY HuellAL 245 WAL T kg MR @2lsel, izl deid i Ul deull
0.4 mm s/edl 98iRL + 0.02 mm | 2R 218 Albml 209 9. Al | + 0.01 mm -l

Question: | 2A[AEAAAL U 0.4 mm ALUAHL 1A . 4oL WSYAUAL AU A2 (AY) ¥ x 1010 Nm 2 v 9,
x o e @l
(g=10 ms—2 dl.)

Topic: Physics-Section B

Item No: 54

Question 1 100154

?ues.tion Numeric Answer

ype:
512 SRR AAAISASIR AR5 A 539 AR élrel 2ud(xt 100 Hz o2 © d 2ddisAsiRA 9161 52 s ©
. Y Y I oy o T ‘\ X

Question: | 42 50 Hz 2d[d 2U40ad 8. sk 2Adis512 513 1S o7 9Uct $3cdl i AR 2ug[xt 3 Hz A 9.
x oy el

Topic: Physics-Section B

Item No: 55

Qlfestion 100155

ID:

_Crlue§tion Numeric Answer

ype:

o syEl-syElL S1MFaAlgs g1l 2 syEl-syel stSIS (£, i ty) el g 25 HUysd UUIAR e UHURS
25l aldd B, 9 ofEl-syEL SIMFAlss UEEIA s YAlSS WAVl 2R (foil) F 43 9l Widl 8.
Yelles foil «ll dielsy V @l

Question:
g, =3, t;=0.5mm
el =1 ——100V

Ty, = 0 L IO

Topic: Physics-Section B

Item No: 56

Question | 400456

ID:




_?;pees:tion Numeric Answer
215l grlleal AR 21 Hersdlorul sl 20l 8§, ddlad detd 1) 240 cm 8. ¢l
243Ul HARIEL x AL P A8 AC{UL e sl 2419 O 2 g Acllad (G5, d ov DL ¥l, 80 cm sved w9,
Xy Q .
P
Question: | B Q ‘
P=40Q
<«
A C
J
| FAAS
[F \*/
E K
Topic: Physics-Section B
Item No: 57
Question ID: | 100157
_I(?;pees:tion Numeric Answer
A YRUUHL vet o7 GRIL 2ug[ail |2 21435135 Ml T A €l
8(Q 20mH 6HF 40 50mH 8()
WW—5555° ] WW T —— AN,
Question:
=3 nF = b5 nl
1 YW 1 YW\ 1 YW
K 05uF 10 08uF 40 0.8 uF 248
{2\
ey
220V
Topic: Physics-Section B
Item No: 58
Question
D: 100158
1Q_ue§tion Numeric Answer
ype:




= - ~ . - =, 1 ~ 1 oo I r ~ . =\
25 i eifeolin deul Segdond 2L w2 o — Al 2udn ErileL Yorot ERAME A1 9.

el dslotanis 1.5 O 2 dedl oinl UMl Ui dscl Blstl (R) ©. R o 4 cm ¢

(Where p = object distance, v=image distance)

B
A
Lem-1)
Al ¥

Question:

10.08

1 0.06

$0.04

10.02

- B L n L L
X ~0.10 —0.08 —0.06 —0.04 —0.02 ()
= em™Y)
o
Topic: Physics-Section B
Item No: 59
Ql{estion 100159
ID:
Ques.tion Numeric Answer
Type:
eUBgley A AR HI, N 2L Al AL Hiedl was dsild weHdl ddodond 8. Wi Al Hiedl Ao wsild
Question: | Uil azordons wid eumz Hell wiel ele 2sidl wedl adodons gzl agodoud-dl asled “anN” o.
a q Yy 24l,

Topic: Physics-Section B
Item No: 60
Question ID: 100160

Question Type: | Numeric Answer

Question:

Al2L 209 wRYMUL, HETH 3R SRILS Ml mA %3l
4 k) | I
VWA —— =
IZ
(100-120) V /—Z V,=60 VS 10 kO




Topic:

Chemistry-Section A

Item No: 61
Question ID: 100161
Question Type: | MCQ

RIS DR | ETD RS

yal - 1 yadl - 11
(xlsy ) (2U512)
coesion (A) BrF, I) aud
- (B) [CrF P~ (1) AR [Redlsa
(C) O, (1) [Asiellx (ghlsa
(D} Pcl, (IV) 2ipsasly
A2 2L [Asediniel ARL sret1er Y4E $3L
A (A) - (D), (B) - (II), (C) - (1), (D) - (IV)
B: (A) - (IV), (B) - (II), (C) - (II), (D) - (I)
C: (A) - (I), (B) - (IV), (C) - (I), (D) - (1)
D: (A) - (1), (B) - (IV), (C) - (1), (D) - (I)
Topic: Chemistry-Section A
Item No: 62
Question ID: 100162
Question MCQ

Type:




Yl - 1Al Y2l - 11 A8 ed sl

yadl - 1 yadl - 11
(sHL/Buri) (Glus)
Question: (A)  250,(g) +O4(g) — 25054(g) (I)  Fe(s)
(B) 4NH,(g) +50,(g) — 4NO(g) + 6H,0(g) (1) Pt(s)—Rh(s)
(C)  Np(g) +3H,(g) — 2NH;(g) (D) V505(s)
(D) a-uld dd (1) + H,(g) — a-tzuld &l(s) (IV) Ni(s)
Al e [Aseqimisl A1 syee i s30
A: (A) - (1), (B) - (), (C) - (1), (D) - (IV)
B: (A) - (), (B) - (IT), (C) - (1), (D) - (IV)
C: (A) - (IV), (B) - (1LI), (C) - (1), (D) - (II)
D: (A) - (IV), (B) - (), (C) - (1IT), (D) - (D)
Topic: Chemistry-Section A
ltem No: | 63
Question | 490163
_?;pees:tion MCQ
{12 o (Gl AN D
[Qeud I:  Cl, 2A80M0, Acdlers BAecil 2L sl uzsiedl Fse s3cL ol ¢ 9.
Question: | [qeu IT:  2Aals (houadla) 2l Bisetl 21 d-l (g (svets) wsedly Bisal s3dl sy
QAR ¢l D
Gyl [BeneieAL dgei, 2L 2udal [Cseulniall 2lel 4 gl srdlel YHE 531
A: oied [Qale T 24 (981 IT 2l 9.
B: oiel (Gl T 24, (S 11 viel ©.
c: (e TR © el [Qaun 1w 9.




D: [Genq T © et (e IT i .

Topic: Chemistry-Section A

Item No: 64

Question ID: | 100164

Question

Type: MCQ

Question: | gealdrd Wea[d Al BulaL ¥l YEUsREL |2l | 28l digdl Wi Al YU S d
A A2 s1-(org

B: Gl Gesartlog

C: Gl=dl [Seyct ALesc

D: melt (UlotanH) el 242 [E8 52 2418 gled Udi ddel
Topic: Chemistry-Section A

Item No: 65

Question ID: | 100165

Question Type: | MCQ

Question: | «{[AAIHIYL Sletl BUAL HLO, AL [Seted L 215 9 7
A RIS

B: siiedlelds

C: siBls 2[R

D: g-1d

Topic: Chemistry-Section A

Item No: 66

Question ID: 100166

Question Type: | MCQ




BeCl, 18 LiATH, il w1 3] 204 9 7

(A) AlCl,

(B) BeH,
Question: (C) LiH

(D) LiCl

(E) BeAlH,

12 2004l [Eseuiizl Al syaler YiE 3l
A A, DA E
B: A, B D
c: D 2 E
D: B,C &4 D
Topic: Chemistry-Section A
Item No: 67
Question
D: 100167
Question
Type: MCQ
5 R 2 2451005 Al dlls adQlldl 8, del “X” Al 3-UUgl 24 “Y” L 6-uugedl-dl w93

uestion:
oAetlell WS O, “X7 2 “Y” s AWEL

A B(OH), i<l NH,
c: B,H, i+ HN,
Topic: Chemistry-Section A
Item No: 68
Question ID: 100168

Question Type: | MCQ




Question: A2 20a Wil 59 25 [Quallstel ulbuid Gelgrel 8l 9
B: 2NO, + H,0O — HNO,; + HNO,
C: MnQOy + 4H' +3e~ — MnO, +2H,0
D: 3MnO3~ + 4H' — 2MnOj +MnO, +2H,0
Topic: Chemistry-Section A
Item No: 69
Question
D: 100169
Question
Type: MCQ
Quest RS weanal, 2s(es 2R A 24U $2dl KMnO, AL otel sdotefl 291 g3 (2Az2) A ©.
uestion:
MG WALl 2AUSAUI2AA 2ARULAL UM FRFLR WAL :
A: 5
B: 1
C: 7
D: 2
Topic: Chemistry-Section A
Item No: 70
Question ID: | 100170

Question Type: | MCQ

Cl+CH, — A+B

Question:
Guz-l aldtaz el ulEuL AL dewssiml A 21 B 2Ll
A C,H, 211 Cl,
B: CHCl, 1 H,
c: CH, >4 HCI




%
D: C2H6 2+ HCI
Topic: Chemistry-Section A
Item No: 71
Question
D: 100171
Question
Type: MCQ
Quest p-ASgils-ia i [Ulss 2R Baer] 2iqollszel sral wie Al 2uiamizl 56wl aslHs -l
ueston:
Gyl Azl MR Y 7
A 210 [F2igA
B: Ralast svardl 2-5 ft alofl slay (Rdet)
C: Gec Yl
D: Blruzélet vl 2zl gl (dl--auz geliqanl)
Topic: Chemistry-Section A
Item No: 72
Question ID: | 100172
Question
Type: McQ
Question: | [Felidetl siRis3HIAL ALl 24 wrellHinl el 20l w2l asiad AR s Y d
A: (BrenzHl 2A(cR{youn
B: gletsel geflual
c. Y5t Yels odrlle
D: (G180l dasgifzs 21z
Topic: Chemistry-Section A
Iltem No: 73
Question ID: 100173

Question Type: | MCQ

Question:

A2 2L ALy s 200085 ] 7




)
B: \_.. ;
’ .
Topic: Chemistry-Section A
Item No: 74
Question ID: 100174
Question Type: | MCQ

Question:

A2 20 5L Aeiluiel dadl vt 2l

[Ag(NHg),] " OH §, NaBEL

»

au
X~
@

HO

» B




o H OH
A: - é - @
H  CH,OH H  CH,OH
H OH H OH
B: - @ - @
H CHO H CH,OH
L H OH
C: - é N @
H COOH H COOH
2 H OH
H COOH H CH,OH
Topic: Chemistry-Section A
Iltem No: 75
Question | 100175
Question

Type:

MCQ




2l U5 3 o7 25 W Frudd WARy Aluds (PhMgBr) 2018 s s31 et HyO+ 18wl
3L A2 2AUE 2SS eHd © d 2L
Question: Ph
|
Ph— CI —OH
CH,
A: CH;-C=N
B: Ph—C=N
O
C: Il
CH;-C-0O-Ph
Ph—-C-CHj
D: I
O
Topic: Chemistry-Section A
Item No: 76
Question ID: 100176

Question Type: | MCQ

Question:

A2 240 UEAL Yo {lder 28l
OCHj

O,N
(i) Na/Mailél NH;
Yo

(i) CH;CH,OH

OCH,

O,N




OCH,
H

B:

H,N

OH

C:

O@P—[i:]

OCH,
H

D:

O,N
Topic: Chemistry-Section A
Iltem No: 77
Question
D: 100177
Question
Type: MCQ

A2 AL SHPABUAMM GURAL ML RURAL $9 WAL
*N,CI~ N; Cl™ N, Cl~
N Cl~
Question:
(A) (B) (©) (D)
OCH; NO, CN

A A>B>C>D
B: A>C>D>B




c: C>A>D>B

D: C>D>B>A

Topic: Chemistry-Section A

Iltem No: 78

Question ID: | 100178

Question

Type: MCQ

Question: | ¥2[35 2[4 2 WIS [Rellr 2ctsiardl bl ARl s41 248 Maas oA 9
A Se1fAs uauas (UpuaAl daas)

B: Q{l"‘g

C: pARLUAS HaUas (oAl MaIas)

D: Al -2 (s Maas ([ 2ua-Al wsias)
Topic: Chemistry-Section A

Iltem No: 79

Question ID: 100179

Question Type: | MCQ

Question:

Al il 59 2is Reyblasu © 7

/OH

H—~C
H—(lj—OH
HO—fCli—H (@)
H—(|30H
H-C

I
H




HOCH H
20
B: H H
H OCHj
OH OH
H H CH,OH
HOH,C o o 9
c. H H O H H
H H
OH OH HO OH
OCHj
H OCH;
H OH
D: HO H
H OH
H OH
CH,OH
Topic: Chemistry-Section A
Item No: 80
Question 1 4100180
Questi
T;JpeeS 1on MCQ
A2 et Qe el Al :
59 (A) : CH,Cl -l 2@ 24 [Rsdtn AICL 1AL HAUB1S 351 2 0 24 p-(end e 2l
2414 el
Question:
510 (R) : Al WL — NH, w3y 2 2031518 © $R6LS [Hefnl AICL, W18 8k A1 © 24

Al 2SR m-Brandd 2Alan Alusy d2ls wm 2w 9.

Gzl [StuiqL zigedn, {2 2unal [asednial el 9y siucindl sedlel e 520




A ¢ird (A) 2l (R) AL O 24 (R) 2L (A) Al 2114l qusyedl ©.
B: ¢ird (A) 24 (R) UL 24 (R) 2 (A) Al 2=l unsyl 2l
c: (A) A S YGL (R) M 9.
D: (A) Vi O Y8l (R) AU 9.
Topic: Chemistry-Section B
Item No: 81
Question
D: 100181
?ues.tion Numeric Answer
ype:
adl dlal vigsizil “igdl (el s3d sdiRiFad wellui 200101l 4 48 ppm Mg -l Aigdiand 2 L glael
A1y, AL GIABML Mg Al YRHIEpAIHL AvL 1 x 1020 W3Rl 8. x o yeu 0. (1wl
Question: ‘
yeLs)
(A4 1 Mg AL wrHieelld €024 g mol—1; N, =6.02 x 10 mol —1)
Topic: Chemistry-Section B
Item No: 82
Question
D: 100182
_?;pees:tion Numeric Answer
€LBglert 2iet 2Userted 245 (sl endl 40% ¢ldglor- 41 9. sk Baleld §@ geel 2.2 bar ¢l
Question: L - .
cUlx @ldGlered iR gousy bar 9. (sl yells)
Topic: Chemistry-Section B
Item No: 83
Question
D- 100183
Que§tion Numeric Answer
Type:
sl wgletrll AoLL esglerl QoL x AGL UK IR 25 SASZA 2l 28 ~4gleArl dZoldens UniA ol
Question: | dlx-d¥4ed S, (Avs-l yelis)

(Jasgirtd €0 9.1x 10731 kg 24 4ol €0 1.6 x 10~ kg)




Topic:

Chemistry-Section B

Item No: 84
Question
D: 100184
Ques.tion Numeric Answer
Type:
298 K 24l 1 atm EAIGLUR 2.4 g Sl 48 HIALML 2ALE4er 118 oflvot SRl qovuaam 219
9. sdiltdlezd drunid 298 K &l 300 K 948 ©. sldiql s ex(3diq iyl 5351
Question: &, & B ~ ¢
—x k] mol 1 ©. dlx-f 4 9. (sl yuels)
(2« ol sdifxdleadl Gyauaal 20.0 /K. ikl dl s slaul 24 e 51601 ©.)
Topic: Chemistry-Section B
Item No: 85
Question
ID: 100185
_?ues.tion Numeric Answer
ype:
sedlR 0.5 M Ag[es 2R 800 mL A ofls3l AW $3AML 2L AR e $€ Bl 288 UH O 2
11.5 g UBLs 2R cindletad a8, cusl 2éal Agls 2Rl WAk xx 1072 M 9. dlx o
Question: % 2 .
Yy O. (sl yulls)
(USlgs AR iz €063 g mol ~1 B.)
Topic: Chemistry-Section B
Item No: 86
Question
D 100186
Question ,
Type: Numeric Answer
298 K W3, Cu(s) +2Ag*(aq) = Cu2* (aq) +2Ag(s) Ul Wi Aqa- 2xnis 2x 101° 8,
. . 1 1 5 - - ™ -
Question: ECu”(aq) + Ag(s) = 5 Cu(s) + Ag™(aq) w1 M2 @qed 205 xx 1078 8. dl x 4 yeu
9. (sl yuuls)
Topic: Chemistry-Section B
Item No: 87




Question

D- 100187
Question .
Type: Numeric Answer
Question: | Fe,0, it 2itxriril s W Ansell Wie sr3<l cuzel Wil F ®. (sl yels)
Topic: Chemistry-Section B
Item No: 88
Question
D- 100188
?ues.tion Numeric Answer

ype:

A = 2B+C uba Wi ot Ulaus A Al uigel 2453 0.5 24 1.0 mol L1 €14 cdR el A8 14221
Question: N N N -
5% 100 5 241 50 5 UH O, WAL 53 0.

Topic: Chemistry-Section B
Item No: 89
Question
D- 100189
Question ,
Type: Numeric Answer
Question: | [Co(H,0),]CL, 2l [Cr(H,0)JCL, A2l 55 orsla 2sual Yl a2l dsidd 3.
Topic: Chemistry-Section B
Item No: 90
Question
D- 100190
Que§tion Numeric Answer
Type:
Questi sl glovlal AAlose, CL, 2us bt s3la fuey X204 6. X Ui ¢udglorll ziva

uestion:

9.




